Dear Sirs,

I have a problem with using Tie-Tags for restarting connection in SCTP.

Are the Local Tag and Peer’s defined in page 67 of RFC 4960 the same as in the Table 2?? But Table 2 Action –A (restart) requires Local and Peer’s Tag mismatch VTAGs in the existing TCB which is not the case here.  Do I misunderstand something?
Please help

Somsak

SCTP A                                             ESTABLISHED         


SCTP Z
TCB (VT_L = A, VT_P =Z)  (---------------------------------------------- -->              Crash (Loss VTAG)  
INIT

ESTABLISHED

     (---------------------------------------------- 

    VT_L = Zx  (COOKIE-WAIT)
VTag = Zx, INITACK, ITag=Ax, Cookie[Zx,Ax,TT(A,Z)

                 ---------------------------------------------- -->




TCB (VT_L = A, VT_P =Z) 

Local-Tie-Tags in Cookie = A

Peer-Tie-Tags in Cookie = Z

Local Tag in TCB = A   

Peer’s Tag in TCB= Z

If no new addresses

are added, when responding to the INIT in the outbound INIT ACK, the

endpoint MUST copy its current Tie-Tags to a reserved place within

the State Cookie and the association’s TCB.

VTag = Ax, COKIE-ECHO, Cookie[Zx,Ax,TT(A,Z)


                <---------------------------------------------- --

     VT_L=Zx (COOKIE-ECHO)
ACTION-A  ???






    VT_P=Ax
Table 2-section 5.2.4
TCB (VT_L = A, VT_P =Z) 

Local Tag in TCB = A   

Peer’s Tag in TCB = Z

Local-Tie-Tags in Cookie = A

Peer-Tie-Tags in Cookie = Z

ESTABLISHED 

VTag = Zx, COOKIEACK

                 ---------------------------------------------- -->




VT_L= Ax
VT_P=Zx         


 



















































